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ABTOpbI:

Bopucosa MapuHa FOpbeBHa,
yumnTeslb MaTEMATUKN U MIHPOPMATUKM
MOY «'umHa3na N2ig5g» r.Omcka,
KoceHkoBa Tamapa BopucoBHa,
yuynTesib MaTeMaTUKK

MOY «'MmHa3na N2ig5g» r.Omcka

2010-2011 y4ebHbIN rog,



Bonpoc 1:

KBagpaTHbIM YpaBHEHUEM
Ha3biBalOT YpaBHeHUe
BMuAa ...

OtBeT: ax?+bx+c=o0



Bonpoc 2:
B KBagpaTHOM yYypaBHEeHUM
1-U KO3PPULMEHT -...,
2-U KO3PPULMEHT -...,
cBO6OAHBbIN U/IeH - ...

OTBerT:



Bonpoc 3:

KBagpaTHoe ypaBHeHue
Ha3biBalOT NPpUBEAEHHbIM,
ec/m ...

OtBeT: a=I|



Bonpoc 4:

KBagpaTHoe ypaBHeHue
Ha3bIBAlOT HEMOJIHbIM,
ec/m ...

OtBer: b=0 uaunc=0



Bonpoc &:
Hanunwwute dopmyny
BblYMC/IEHUA
ANCKPUMMHAHTA
KBaApaTHOro ypaBHeHUSN

Oteer: D =Db?-
Vil-Yor



Bonpoc 6:

KBagpaTHoe ypaBHeHue
nMeeT ABa KOPHS,
ec/u ...

OtBer: D >0



Bonpoc 7:

KBagpaTHoe ypaBHeHue
He UMeeT KOpPHeW,
ec/u ...

OtBer: D <0



PeweHne ynpa>xHeHUM

| YACTb:

o X°>+2X-9=0;
o X°—-7X=0:;

® X°-3X+1=0;
® X>°-9=0;

® 7X - X?=4;

® 7X’— 14X =0;

® 3X?-2X+19=0;
e 16X? =0;

® X°— 19X + 48 + 0;
® 5X?=6X.




PeweHne ynpaxHeHUU

2 YACTb:
06X2+(p-DX+2-4p=0
®o(p—2)X*+3X+p=0

e3X? -(2p+3)X+2+p=0
®(6-p)X°+(2p+6)X+12=0







